Equations: colorimetric transfer from CIELAB hue angle hy,to elementary hue numbere*

Given: CIELAB hue angle hyp (0 <=hyp<= 360 )
CIELAB hue angleshgp exof four elementary colourseX=RJGB
Aim: Elementary hue number e* of the given colour (0 <=e*<=1)
Calculate elementary hue angig, ¢in one of five possible cases oy (0 <=hyp<= 360 ):

If 0 <=hgp<hgp er hab,e= 270 + 90 [ 360 +ap— hap ed / [360 +hap er— Nab,ed

If hab,eR<=Nap < hap eJ hap,e= 0 + 90 Pap—hap eR / [Nab,es~ hab e

If hap,e3<=Nap<hap eG hap,e= 90 + 90 fap — hap e}/ [Nab,eG~ Nab el

If hap,eG<=hap< hap eB hap,e= 180 + 90 fiap = hap,ed / [ab,eB~ hab,ed

If hap eB<=hap < 360 hap,e= 270 + 90 fiap — hap ed / [360 +hap er~ Nap,ed
Elementary hue number e* = hgp e/ 360 (0<=e*<=1)

Inverse equations: transfer from elementary hue numbee* to CIELAB hue angle h,,
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Given: elementary hue numbere* (0 <=e*<=1)
CIELAB hue angleshgp exof four elementary colourseX=RJGB
Aim: CIELAB hue angle hgpof the given colour ( 0 <=hg<= 360 )

Elementary hue angle hap,e= 360e* (O<=e*<=1)
Calculate CIELAB hue angleypin one of four possible cases (0 <=e*<1):

If 0,00 <=e*< 0,25 hab=hap,er* [Nab,e/ 90 ] hap e~ hab,eR

If 0,25 <=e* < 0,50 hab=hab,eg+ [Nab,e/ 90 — 1,00] hap e~ hab,el

If 0,50 <=e*< 0,75 hab=hab e+ [Nab,e/ 90 ~ 2,00] bab eG~ Nab,ed

If 0,75 <=e* < 1,00 hab=hab e+ [ab,e/ 90 ~ 3,00] bab eG™ Nab,el

only if hgp>= 360 then: hap = hap— 360 0 <=hyp<= 360
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